
20.40.1401.01

شھادة الضمان ودلیل المستخدم



-2-

5 / 45 / 25 / 1

5 / 1

5 / 3 5 / 5

13.07.01.093 x 20 13.02.01.017 x 48

13.07.01.108 x 4

13.07.01.016 x 1

13.07.01.110 x 4 13.01.01.111 x 8

13.03.01.021 x 56
M6X13

18.40.1401.256 x 8

13.01.01.555 x 4 13.03.01.029 x 4

13.03.01.035 x 16

13.03.01.023 x 4

M6x40

M6x30M6x15

13.01.02.166 x 4

13.01.01.979 x 8

13.03.01.019 x 4

13.07.02.212 x 4

13.07.02.189 x 1

10 MM

18.40.1401.254 x 1 18.40.1401.064 x 1

13.14.03.652 x 4

18.40.1401.253

5 / 2

18.40.1401.051 x 1 18.40.1401.052 x 1 18.40.1401.056 x 1 18.40.1401.057 x 1



-3-

5 / 4

5 / 3

5 / 5

18.40.1401.053 x 1 18.40.1401.054 x 1 18.40.1401.055 x 1 18.40.1401.058 x 1

18.40.1401.251 x 2 18.40.1401.252 x 2 18.40.1401.255 x 4

18.40.1401.059 x 2

18.40.1401.060 x 1

18.40.1401.061 x 2

18.40.1401.062 x 1

18.40.1401.057 1 18.40.1401.056 
13.07.01.108 x 4 

18.40.1401.052 18.40.1401.051 



-4-

2

3

18.40.1401.056 18.40.1401.057 

18.40.1401.052 18.40.1401.051 

13.01.01.979 x 8 

M6X40 18.40.1401.057 

18.40.1401.052 

18.40.1401.251 

18.40.1401.252 

13.07.01.016 x 1 

13.03.01.035 x 6 

13.07.01.093 x 6 

4

5

13.07.01.016 x 1 

M6X40
13.03.01.035 x 6 

13.07.01.093 x 6 

18.40.1401.252 

18.40.1401.251 

18.40.1401.056 

18.40.1401.051 

18.40.1401.255 

18.40.1401.053 

!

13.07.01.110 x 2 

13.01.01.111 x 4 
!

13.02.01.017 x 12 

13.03.01.021 x 8 

18.40.1401.256 x 2 



-5-

6

!

!

13.07.01.110 x 2 

13.01.01.111 x 4 

18.40.1401.058 

18.40.1401.255 

18.40.1401.255 

7

13.02.01.017 x 12 

13.03.01.021 x 8 

18.40.1401.256 x 2 

4x

!

13.03.01.021 x 12 
M6X13 

13.03.01.035 x 4 
M6X35 

13.07.01.016 

13.07.01.093 x 4 

!

18.40.1401.058 

18.40.1401.053 

13.01.01.555 x 4



-6-

9

8

!

!

!
18.40.1401.255 

13.02.01.017 x 12 

18.40.1401.255 

18.40.1401.054 13.03.01.021 x 6
M6X13

18.40.1401.256 x 2

18.40.1401.055

18.40.1401.054

13.03.01.021 x 16
M6X13

13.03.01.021 x 6
M6X13

18.40.1401.256 x 2

18.40.1401.055

18.40.1401.255 

18.40.1401.255 

13.02.01.017 x 12 

10

!



-7-

11

13.07.02.212 x 4

13.03.01.019 x 4

13.07.02.189

12

!

18.40.1401.060

18.40.1401.062

18.40.1401.061

18.40.1401.059

13.07.01.016 

13.07.01.093 x 4 

!

!

18.40.1401.061

18.40.1401.059



-8-

13a

13b

M6x15

13.07.01.016 

M6x15

13.07.01.016 

18.40.1401.254

13.03.01.023 x 4

13.01.02.166 x 4

18.40.1401.064

13.03.01.029 x 4
M6X30

13.07.01.016

18.40.1401.064

13.03.01.029 x 4
M6X30

18.40.1401.064

18.40.1401.254

13.03.01.023 x 413.01.02.166 x 4

18.40.1401.064


